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In addition to criteria .
Student introduces
for a 3, student Student lacks a
. the Island Fox . Student
includes ) reference to their
population problem does not
supplemental : graph, does not
. . . with references to : reference
Introduction | information about include an ordered
: the graph and : the Fox
how the population pair OR does not :
: states an ordered : population
was estimated OR on . mention the fox
. pair on the graph to : graph.
the biology of the : decline.
show the decline.
Fox
Graph is complete, Graph is complete | Graph is missing Multiple
correct and shows . . .
Graph remarkable and includes all labels, title, line of errors are
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1. Student explains how the
TWO tools would be used.
In addition to 2. Student includes a cause- Student
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student includes how the tools would lacking one | sufficiently
Ecological why the TWO increase the FOX population. | 5fthe rationalize
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